
Mad Maths Minutes 

Subtract 1-digit from 3-digit Set A 

115 – 8 =  793 – 8 =  

750 – 6 =  716 – 5 =  

215 – 9 =  699 – 3 =  

836 – 5 =  672 – 4 =  

841 – 2 =  130 – 6 =  

101 – 0 =  244 – 0 =  

442 – 1 =  953 – 4 =  

202 – 7 =  954 – 6 =  

169 – 4 =  246 – 5 =  

291 – 3 =  949 – 9 =  

394 – 2 =  708 – 1 =  

517 – 0 =  225 – 2 =  

550 – 9 =  112 – 7 =  

285 – 1 =  926 – 3 =  

277 – 7 =  528 – 8 =  
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Mad Maths Minutes 

Subtract 1-digit from 3-digit Set B 

698 – 9 =  445 – 9 =  

253 – 8 =  581 – 4 =  

355 – 6 =  500 – 2 =  

534 – 7 =  293 – 6 =  

717 – 3 =  305 – 7 =  

367 – 0 =  386 – 7 =  

667 – 5 =  624 – 2 =  

721 – 1 =  438 – 9 =  

222 – 4 =  179 – 4 =  

499 – 2 =  262 – 5 =  

255 – 8 =  348 – 6 =  

714 – 0 =  455 – 1 =  

459 – 3 =  385 – 0 =  

578 – 1 =  135 – 3 =  

646 – 5 =  266 – 8  = 
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